FE38EeLfgw R &4 — XELHRIEFIERR SRR 5/14 KFEELEES

MR | BB /7R |ERL] EEFE | AD K# Fin | R ESTERE REEE i
M | 60m | M35 | 1 712 | -09 |#BE 2% 35 | B

M | 60m | M35 | 4 7.94 | -0.9 |EM 1HE 36 | BiR

M | 60m | M35 | 2 7.15| -0.9 |®BaL mE—B8 | 36 | BE

M | 60m | M35 | 3 7.33| -09 |giME RB— 39 | B

M | 60m | M40 | 2 7.94 | -0.9 |$8f B 41 | BIR

M | 60m | M40 | 1 7.31 | -0.9 |f&4& A 43 | BE | 2 KeH-
M | 60m | M45 | 1 7.89 | 0.0 |&)Il HE 47 | BE

M | 60m | M45 | 3 8.73| 0.0 |E& H* 48 | BE

M | 60m | M45 | 2 8.41| 0.0 |/ EK 48 | BAR

M | 60m | M50 | 1 766 | -1.0 |BAR # 51 | BE | 2K -
M | 60m | M50 | 3 8.08 | -1.0 |{£8E %= 51 | LB

M | 60m | M50 | 2 7.84 | -1.0 |BAF BN 51 | B

M | 60m | M50 | 4 8.46 | -1.0 |t #—B8 | 53 | BiR

M | 60m | M50 | 5 859 | -1.0 [lLO 47 53 | L&

M | 60m | M55 | 1 7.84 | 0.0 |hnr = 55 | BIR | 2lEkEH -
M | 60m | M55 | 6 8.72| 0.0 |F1E 56 | [

M | 60m | M55 | 2 826 | 0.0 |=kf H— 56 | BHEX

M | 60m | M55 | 3 827 | 0.0 |{£#E =XiA 56 | BiR

M | 60m | M55 | 4 838 | 0.0 |HH &= 57 | BH

M | 60m | M55 | 5 849 | 0.0 \HL 1B 58 | BHX

M | 60m | M60 | 1 8.18 | -0.5 [KE F= 60 | BiR

M | 60m | M60 | 5 9.72 | -0.5 |[R M 62 | BIR

M | 60m | M60 | 4 9.23| -0.5 |HE & 62 | S

M | 60m | M60 | 2 8.68 | -0.5 /A =M 64 | BH

M | 60m | M60 | 3 9.12 | -05 | =18 HE 64 | BIR

M | 60m | M65 | 3 9.48 | -1.7 |HF & 65 | BE

M | 60m | M65 | 1 9.38 | -1.7 |/ EE 65 | BiR

M | 60m | M65 | 2 9.47 | -1.7 |#&1L BEXR 67 | LB

M | 60m | M65 | 4 1023 | -1.7 |E% &= 68 | BH

M | 60m | M70 | 2 9.45| 0.0 |E #EZ 70 | BB

M | 60m | M70 | 3 10.95 | 0.0 |#& fX 70 | BiR

M | 60m | M70 | 1 850 | 0.0 |AA 1&7F 73 | LB IR -
M | 60m | M75 | 1 9.90 | +0.3 | 34 75 | BiR

M | 60m | M75 | 3 11.39 | +0.3 |[AR #MA 76 | BE

M | 60m | M75 | 2 9.95 | +0.3 |MAE #C 79 | BHE

M | 60m | M80 | 1 10.90 | +0.3 |f8M X 80 | BiR

M | 60m | M80 | 2 12.24 | +0.3 [#a4 A 80 | BH

M | 60m | M80 | 3 1410 | +0.3 | B Ttb 84 | BiR

M | 60m | M85 | 1 15.12 | +0.3 |8k EXE 85 | BE

M | 60m | M85 | 2 16.72 | +0.3 |FHA (& 89 | BE

M | 100m | M25 | 1 11.98 | -1.7 |57 & 28 | W

M | 100m | M30 | 1 11.71 | -1.7 BB #27 31 | BR

M | 100m | M30 | 2 1293 | -1.7 [}£% i 32 | BiR




M | 100m | M35 | 2 11.26 | -1.7 ¥ 2% 35 | BE | 2luEkERA -
M | 100m | M35 | 1 11.19 | -1.7 \#ub mE—BE | 36 | BE | 2WlBEARH -
M | 100m | M35 | 4 12.83 | -1.7 |&ZH &R 39 | [l
M | 100m | M35 | 3 11.97 | -1.7 |51 R— 39 | BE
M | 100m | M40 | 4 12.99 | -0.1 |#@ K 40 | BE
M | 100m | M40 | 2 12.60 | -0.1 |$8#% M@= 41 | B1IR
M | 100m | M40 | 1 11.41 | -0.1 |f&A& 03 43 | BER | 2RSS -
M | 100m | M40 | 3 12.92 | -0.1 |ILA #ib 44 | BE
M | 100m | M45 | 1 1259 | 0.0 [t&)Il %HE 47 | BE
M | 100m | M45 | 2 1276 | 0.0 |5l &= 48 | EE
M | 100m | M45 | 3 13.78 | 0.0 [/ EKX 48 | BIR
M | 100m | M50 | 6 13.74 | -1.1 |RE # 50 | BiR
M | 100m | M50 | 1 1232 | -1.1 |BK # 51 | BH
M | 100m | M50 | 3 13.13 | -14 |tkBE Z= 51 | LB
M | 100m | M50 | 2 13.03 | -1.1 | RN 51 | &
M | 100m | M50 | 8 1470 | -1.4 |\WA B 52 | BE
M | 100m | M50 | 5 1350 | -1.4 |0 #5—8F | 53 | BIR
M | 100m | M50 | 4 13.24 | -1.1 |WA K 53 | BIR
M | 100m | M50 | 7 1412 | -1.4 [LO #3 53 | L&
M | 100m | M50 | 9 15.35 | -1.1 | AR @b 54 | BEX
M | 100m | M55 | 1 1254 | 03 |me = 55 | SR IR ARRH -
M | 100m | M55 | 3 13.43| 0.3 |= H— 56 | B
M | 100m | M55 | 2 13.34 | 0.3 |fkBE =R 56 | BiR
M | 100m | M55 | 4 13.87 | 0.3 |#@ &= 57 | BHE
M | 100m | M55 | 6 15.36 | 0.3 |=it f&hA 58 | BEX
M | 100m | M55 | 5 15.05| 0.3 |FENI B&— | 59 | B
M | 100m | M60 | 1 13.21| 03 [KE #= 60 | BiR
M | 100m | M60 | 6 15.85| 0.3 |R M 62 | BIR
M | 100m | M60 | 7 16.99 | 0.3 |AR & 62 | BIR
M | 100m | M60 | 4 1477 | 0.3 |H@E & 62 | BE
M | 100m | M60 | 3 1476 | 0.3 |#FAF IE{= 62 | BE
M | 100m | M60 | 2 1419 | 03 /& =B 64 | S
M | 100m | M60 | 5 1479 | 03 & HE 64 | BIR
M | 100m | M65 | 3 15.27 | 0.2 |WFE & 65 | BH
M | 100m | M65 | 1 15.00 | 0.2 |/t & 65 | BiR
M | 100m | M65 | 4 16.31| 0.2 |FAA JXAE 66 | LB
M | 100m | M65 | 2 15.07 | 0.2 |#&gl EX5R 67 | LB
M | 100m | M70 | 2 15.45| -0.6 |[RE #&= 70 | BiR
M | 100m | M70 | 3 17.96 | -0.6 |1& f¥ 70 | BiR
M | 100m | M70 | 4 18.69 | -0.6 |EME Z% 1 | K&
M | 100m | M70 | 1 13.85| -0.6 [;AM {&A 73 | B8 | 2lEKei-
M | 100m | M75 | 1 16.41 | -0.6 |ZEE 3L 75 | BiR
M | 100m | M75 | 3 19.79 | -0.6 |AR MA 76 | BE
M | 100m | M75 | 2 16.59 | -0.6 A8 #X 79 | BE
M | 100m | M80 | 1 18.39 | -0.8 |f8H X 80 | BiR
M | 100m | M80 | 4 20.53 | -0.8 |faAk  FA 80 | BE
M | 100m | M80 | 5 2080 | -0.8 (R HR 82 | L&




M | 100m | M80 | 2 19.26 | -0.8 |EB #k 83 | M
M | 100m | M80 | 3 19.47 | -0.8 |hft FEH 83 | B
M | 100m | M85 | 1 27.83 | -0.8 |fHA & 89 | BH
M | 200m | M-24 | 1 25.36 | -1.5 |EA EH 22 | BiR
M | 200m | M30 | 1 23.24 | -1.5 |BEE oA 31 | BiR
M | 200m | M40 | 1 23.29 | -1.5 |fEA  #F 43 | BER | 2lLBEKREH-
M | 200m | M40 | 2 2620 | -1.5 |&FF A 44 | BE
M | 200m | M45 | 1 2578 | -1.5 | &Il E= 48 | IEB
M | 200m | M50 | 3 27.79 | -0.7 |RR # 50 | BiR
M | 200m | M50 | 1 2481 | -0.7 |HAK # 51 | BE | £l kai-
M | 200m | M50 | 2 26.57 | -0.7 |AE X 53 | BiR
M | 200m | M50 | 4 31.33 | -0.7 |AR ®tB 54 | BH
M | 200m | M55 | 2 28.15 | -0.7 | =l HE— 56 | BHX
M | 200m | M55 | 1 2763 | -0.7 [{£BE =ik 56 | BiR
M | 200m | M60 | 1 2757 | -1.4 |lLiF XkE 60 | KfE
M | 200m | M60 | 2 31.16 | -1.4 |dF IE{= 62 | S
M | 200m | M60 | 3 3234 | -1.4 & RE 64 | BIR
M | 200m | M65 | 1 31.93 | -1.4 |/ & 65 | BiR
M | 200m | M65 | 2 35.74 | -1.4 |h=E B 69 |
M | 200m | M70 | 1 31.44 | +16 [ E #EEZ 70 | BiR
M | 200m | M70 | 2 32.40 | +1.6 |fEXE &= 70 | WA
M | 200m | M70 | 3 3271 | +1.6 | =18 #I98 70 | L&
M | 200m | M70 | 4 37.14 | +1.6 |tk E&E 70 | BH
M | 200m | M75 | 1 34.48 | +1.6 |FIE 34 75 | BiR
M | 200m | M80 | 1 4241 | +1.6 B35 #h 83 | ML
M | 200m | M8O | 2 43.27 | +1.6 |hFF K 83 | BE
M | 200m | M85 | 1 70.43 | +1.6 |FrE (& 89 | BE
M | 400m | M35 | 1 56.14 2E BER 39 | M
M | 400m | M45 | 1 59.14 SN BE 48 | WEB
M | 400m | M50 | 2 1.17.02 AR B 54 | BE
M | 400m | M50 | 1 1.05.17 R % 54 | BiR
M | 400m | M55 | 1 1.14.46 g A 59 | #HE
M | 400m | M60 | 1 1.07.74 i Fite 61 | BE
M | 400m | M60 | 2 1.13.21 WA —% 63 | BH
M | 400m | M65 | 1 1.27.31 EH #HE 68 | BH
M | 400m | M70 | 2 1.25.26 CIEZ NI =E - 70 | BE
M | 400m | M70 | 1 1.19.21 A 18 72 | BIR
M | 400m | M75 | 1 1.25.76 =R BE 75 | BE
M | 400m | M80 | 1 1.34.71 B B5 80 | BE
M | 400m | M80 | 2 1.43.12 HEH EHE 82 | M
M | 800m | M40 | 1 2.07.14 #FT A 44 | BER | 2R -
M | 800m | M55 | 2 3.15.23 hilg  HEE 59 | &
M | 800m | M55 | 1 2.26.00 Ng = 59 | BiR
M | 800m | M60 | 1 2.46.95 WA —% 63 | BE
M | 800m | M70 | 1 2.50.58 =5 FIEF 70 | L&
M | 800m | M70 | 4 3.25.25 A B&E 70 | BH
M | 800m | M70 | 2 3.08.64 w RS 72 | BIR




M | 800m | M70 | 3 3.17.02 FH # 73 | BE

M | 800m | M75 | 1 3.15.80 2R B 75 | BE

M | 800m | M80 | 1 4.15.92 HRH =HE 82 | ML

M | 1500m| M30 | 1 4.10.45 He oh 32 | B SRR -
M |1500m| M40 | 1 4.45.77 BEE ZE 40 | EE

M | 1500m| M50 | 1 5.06.30 Bl MR 50 | B

M | 1500m| M50 | 2 5.26.82 =i Bh— 53 | TE

M | 1500m| M55 | 3 5.14.65 aiE  BEh 57 | BE

M | 1500m| M55 | 2 5.07.41 EE B 57 | B

M |1500m| M55 | 1 4.56.90 BH BHZ 58 | BiR

M | 1500m| M55 | 4 6.30.82 hlg A 59 | #HE

M | 1500m| M65 | 1 5.28.66 KH R 65 | BH

M | 1500m| M65 | 3 5.49.37 RE KA 66 | BH

M | 1500m| M65 | 2 5.35.04 B 1E#F 69 | LB

M | 1500m| M70 | 1 5.43.96 Bk ME 70 | BE

M | 1500m| M70 | 3 6.22.95 i 72 | B

M | 1500m| M70 | 5 7.45.65 B BB 72 | BE

M | 1500m| M70 | 2 6.16.03 w RE 72 | BRR

M | 1500m| M70 | 4 6.30.15 FH # 73 | BE

M | 1500m| M75 | 1 6.33.19 =R BE 75 | BE

M | 1500m| M75 | 2 7.46.21 WA B 77 | B

M | 1500m| M75 | 3 9.50.87 B B 79 | BB

M | 1500m| M80 | 1 | 11.47.97 Tt 84 | BiR

M | 1500m| M85 | 1 7.48.34 MAF & 86 | BiR

M |3000m| M40 | 1 9.48.05 BE FE 40 | BEE | 2lBEARTH-
M | 3000m| M40 | 2 | 10.04.21 L B 43 | BER | ®ILEARTER -
M | 3000m| M55 | 1 11.02.74 B5H BZ 58 | IR IR ARRH -
M | 3000m| M65 | 2 | 11.17.64 B ER 65 | KfE

M | 3000m| M65 | 5 | 12.18.89 EE KA 66 | BH

M [3000m| M65 | 1 | 11.17.30 hiE B 66 | RE

M [3000m| M65 | 4 | 12.00.94 '/H = 68 | BH

M | 3000m| M65 | 3 | 11.56.83 Ef E#E 69 | LB

M | 3000m| M70 | 1 | 12.46.61 Bk M&E 70 | BE

M | 3000m| M70 | 3 | 14.05.80 Fig fE— 72 | BE

M | 3000m| M70 | 4 | 16.43.11 B BB 72 | BE

M [3000m| M70 | 2 | 13.44.16 w RS 72 | BIR

M | 3000m| M85 | 1 17.03.12 MAF] & 86 | Bk SRR -
M | 5000m| M25 | 1 15.56.60 ng At 26 | BIR | 2R ASER-
M | 5000m| M50 | 1 | 19.43.06 =i Bh— 53 | TE

M | 5000m| M65 | 1 | 20.10.50 RE KA 66 | BHL

M [100mH| M50 | 1 15.91 | +0.6 |{kBE Z=E 51 | LB 0.914m/8.50m
M |[100mH| M50 | 2 16.78 | +0.6 |/\k F= 52 | & 0.914m/8.50m
M | 300mH| M60 | 1 48.35 g REZ 60 | KE | @Kk - 0.762m
M | 400mH| M55 | 1 1.20.58 BE 8% 57 | BE | &l Ksiik- 0.840m
M | E3Bk| M-24 | 1 1.85 TR N 24 | BIR | 2R ASER-
M |ESB| M25 | 1 1.50 WHE &X 25 | BiR | &R ASEHR-
M | E=Bk| M50 | 1 1.53 B0 B 53 | BEX




M |ESB| M65 | 1 1.05 EE #E 68 | BH

M |ESB| M70 | 1 1.35 il #&3E 72 | LB | 2lBRERA -

M | E=Bk| M75 | 1 1.30 HF FB 75 | R 2R ARHT -

M | E=Bk| M75 | 2 1.10 RHE & 75 | R

M |ESB| M80 | 2 1.00 BH 80 | BiR

M |ESB| M80 | 1 1.05 REE BHR 82 | LB

M | #ESB| M30 | 2 3.00 2% R 32 | BiR

M | #E=Bk| M30 | 1 4.00 N R 34 | BIR | 2EKREH-

M | ESBk| M40 | 1 3.20 HEE BF 44 | LA IR RRH -

M | =Bk M6e5 | 1 3.10 hEE = 66 | BE | £k -

M | #ESB| M70 | 1 2.40 BEx B2 70 | O 2SR -

M | EfEBE| M35 | 1 449 | +1.5 | =] kK3 35 | BE

M | EfEEE| M40 | 1 474 | +2.1 ZH FF 44 | BE

M | ZEmEBk| M45 | 1 5.77 | +1.9 |BRIR E# 48 | BEX

M | ZEmEBk| M50 | 1 593 | +2.2 |&%& &= 50 | R .

M | Ef&BE| M50 | 2 493 | +0.2 |2 #—p8f | 53 | BiR

M | EfEBE| M55 | 1 4.06 | +1.5 F0A 56 | FELWL

M | EiERE| M55 | 2 3.89 | +1.1 |&ik 184 58 | BHX

M | E&EBk| M60 | 2 4.15 | +1.6 | B FHiE 60 | BiR

M | Ei&@gk| M60 | 3 3.69 | +1.5 | IE{= 62 | BE

M | EiEgk| M60 | 1 430 | +1.5 |ZHF Tk 64 | BIR

M | EiEEE| M65 | 2 3.74 | +0.7 |FAA  XHEB 66 | L&

M | EfEBE| M65 | 1 3.85 | +0.8 | %& 67 | BH

M | EfEEE| M70 | 1 4,58 | +0.7 |;AIA 1B 73 | L&

M | =EBk| M50 | 1 11.97 | +1.6 |=m & 50 | R 2L RERH -

M | ZEBk| M50 | 2 10.28 | -04 |BF #H 53 | B

M | =EBk| M55 | 1 11.78 | -1.5 |8 2 55 | L& IR ARRH -

M | ZEBk| M65 | 1 8.65 | +1.1 |M\E F}E 67 | BH

M |sZEEEL M40 | 1 12.31 /== N 40 | BE

M |sTREBE M50 | 1 12.88 =f 51 | B

M |SZAEB M50 | 2 11.66 B0 B 53 | BEX

M | ZHEBE M55 | 1 13.54 it R 55 | BB | @Kk -

M |SZAEEL M55 | 2 10.97 A 56 | L | 2L ASEH-

M |szEEEE| M60 | 3 10.62 Wr B2 60 | L&

M |szEEE M60 | 1 13.23 BH fEx 61 | LB | 2EXEEH-

M |AEB M60 | 2 13.00 NS SEB 64 | BE SRR -

M |ThEEB| M60 | 4 10.05 xEB EBEA 64 | S

M |s7EEE| M65 | 1 10.93 WE 2B 67 | B

M |szEEE M75 | 1 9.77 HF AR 75 | FWL | 2lERSEH-

M |szZEEBE| M8O0 | 1 7.42 R BER 82 | LB

M | fgh& | M25 | 1 10.40 EH RIFE 28 | BEX | 2lBEAH- 7.260kg
M | Rt | M40 | 1 9.26 L TN 43 | R 7.260kg
M | B | M40 | 2 7.86 HE e 44 | BE 7.260kg
M |24 | M50 | 2 7.63 SH Bz 50 | &EN 6.000kg
M |Fgh% | M50 | 1 9.52 BifR R 54 | BE 6.000kg
M |f@A3% | M60 | 1 9.91 WF B2 60 | LB 5.000kg
M | Fafu% | M60 | 2 8.63 fhal RIE 64 | KfE 5.000kg




M | Rt | M65 | 1 8.44 B/ B 69 | BE 5.000kg
M |24 | M70 | 2 8.99 BexE B 70 | LA 4.000kg
M | fahi& | M70 | 1 9.28 NE BE 71 | BH LR RRH - 4.000kg
M | Fafu% | M70 | 3 7.23 A Bif 74 | R 4.000kg
M | Fatu& | M70 | 4 6.92 BN — 74 | BIR 4.000kg
M |fahi&| M75 | 1 7.47 fhE ASB 75 | LA 4.000kg
M |FEA& | M75 | 2 6.53 BEHE Rx | 75 | BH 4.000kg
M |fg4% | M80 | 1 8.44 HE RE 83 | LB | LlBEREH- 3.0kg
M | B8 | M25 | 1 43.69 2l W& 28 | BE -0 2.000kg
M | A% | M40 | 1 22.19 BER =E 42 | BE 2.000kg
M | B%83#% | M45 | 1 20.22 nNg B= 48 | BIR 2.0kg
M | B%3#% | M50 | 1 27.07 SH ez 50 | BE 1.500kg
M | B84 | M50 | 2 22.10 mOBEE 54 | BE 1.500kg
M | A% | M50 | 3 21.18 Bik R# 54 | BE 1.500kg
M | BE8#% | M55 | 1 23.45 FH OEE 58 | L& 1.500kg
M | B8 | M60 | 1 32.52 T EHe 60 | L5 1.000kg
M | A% | M60 | 2 23.05 X8 BA 64 | BE 1.000kg
M | B84 | M65 | 2 25.94 Bx REE 68 | LA 1.000kg
M | B8#% | M65 | 1 35.53 B’ @ 69 | BE 1.000kg
M | %% | M65 | 3 15.55 FE B3 69 | L 1.000kg
M | BE#%| M70 | 1 29.88 BN HFE 70 | BiR 1.000kg
M | %4 | M70 | 4 18.75 MHE Z&* 1| LB 1.000kg
M | B84 | M70 | 2 24.77 EAR IH 73 | WA 1.000kg
M | B#% | M70 | 3 24.25 WA EJiE 74 | FEWL 1.000kg
M | B8 | M70 | 5 15.31 BN —E 74 | BIR 1.000kg
M | BE#&| M75 | 1 23.82 FhE ASB 75 | LA 1.000kg
M | B8#%| M80 | 1 19.81 HE RE 83 | LS 1.000kg
M | %% | M85 | 1 22.06 =SS 85 | ML 1.000kg
M |[~vv—| M25 | 1 38.14 2l R 28 | BE | 2R ASTH - 7.260kg
M | ~ve—s| M40 | 1 28.43 TN 43 | [l 7.26kg
M |[~v<— M50 | 1 32.48 SH e 50 | SE 6.000kg
M |[~v<— M60 | 1 45.46 E =% 60 | LA 2R - 5.000kg
M |[~v=—# M65 | 1 33.58 B/ B 69 | SH 5.000kg
M |[~v<v—| M65 | 2 10.37 TE B3 69 | LWL 5.000kg
M |[~vv—| M70 | 1 32.78 EH 1ERK 71 | R 2L ARRH - 4.000kg
M | ~ve—s| M75 | 1 28.70 R AR 75 | WA 4.000kg
M |[~vv— M8O0 | 1 18.86 HH HE 82 | ML 3.000kg
M |[~vv— M85 | 1 23.18 w RX 85 | ML 2B ARRH - 3.000kg
M | ®U#| M45 | 3 24.21 e R 46 | LB 800g
M | ®U#| M45 | 2 32.07 ZH Fi 47 | BER 800g
M | Y| M45 | 1 39.94 ng &= 48 | BR 800g
M | ®VU#| M50 | 2 30.67 WA E— 53 | & 700g
M | ®V#&| M50 | 1 42.10 w OEE 54 | BHEX 700g
M | ®Y#H| M55 | 2 22.83 BE 8% 57 | BE 700g
M | $V#| M55 | 1 40.34 ST 5 58 | LB 700g
M | $V#| M60 | 1 46.94 BH fEx 61 | LB | &2lEXEEH - 600g
M | ®VU#| M60 | 2 28.53 BH EE 62 | L 600g




M | ®U#| M60 | 3 18.81 ME 1HxX 64 | BE 600g
M | Y% | M65 | 2 19.29 M) —*%h 66 | BE 600g
M | $V3#&| M65 | 1 29.73 NI B 66 | SE 600g
M | ®VU#| M70 | 3 26.81 Br &HE 70 | BiR 500g
M | VY| M70 | 1 30.32 W EE 71 | BE 500g
M | ®U#| M70 | 4 26.15 g #&3E 72 | LB 500g
M | ®U#| M70 | 2 29.68 TR BB 73 | WA 500g
M | ®Y#%| M70 | 5 24.69 WA JiE 74 | WL 500g
M | ®VU#| M70 | 6 22.16 BN — 74 | BiR 500g
M | ®VU#| M75 | 1 17.85 BEF K= | 75 | BR 500g
W | 60m | W-24 | 1 935 | -1.1 |B&R XiE 23 | BER | ®lllEkSTH-

W | 60m | W30 | 1 9.00 | -1.1 |#HB~F BX | 34 | BR | 2L AESTH-

W | 60m | W40 | 1 827 | -1.1 ;B »HY 43 | BE

W | 60m | W40 | 2 9.05| -1.1 |#/AE E&TF 44 | BAR

W | 60m | W60 | 1 10.02 | -1.1 /BR AEF | 61 | L5

W | 60m | W65 | 1 11.42 | -1.1 B =7 67 | B

W | 100m | W-24 | 1 15.05 | -0.6 |Z&E ZHE 23 | BE | 2B ASTH -

W | 100m | W30 | 1 14.48 | -0.6 |#8FH<F BE | 34 | BIR

W | 100m | W40 | 1 13.08 | -0.6 [ HHY 43 | BEX | 2lBEAH -

W | 100m | W40 | 2 14.64 | -0.6 |{HA &ET 44 | BAR

W | 100m | W60 | 1 1538 | -06 |'BE EEBEF | 60 | L5 LR RRH -

W | 100m | W60 | 2 15.62 | -0.6 |&%E MmEF | 60 | BER | 2LBEASH-

W | 200m | W40 | 1 26.60 | -0.6 | HHY 43 | BER | 2LBEKREH -

W | 200m | W40 | 2 31.80 | -0.6 |1AA &ET 44 | BAR

W | 400m | W45 | 1 1.15.76 EHEH HEY 47 | BE

W | 400m | W60 | 1 1.13.63 BE HETF | 60 | LB IR RRFH -

W | 800m | W45 | 1 2.55.97 EH A 47 | BER

W | 800m | W60 | 1 3.05.58 xE 8F 64 | BH

W | 1500m| W60 | 1 6.02.92 xE 8F 64 | BH

W | 80mH | W60 | 1 1447 | 0.0 |&R®E ®B&EF | 60 | ML 2B AEH - | 0.686m/7.00m
W | ESBE| W50 | 1 1.20 TR EN 52 | BiR

W | EfEBk| W30 | 1 4.65 | +0.7 |#FF BX | 34 | BR

W | EfEBk| was | 1 479 | +1.1 =W #&EF | 46 | L 2R RH -

W | EfEBK| W50 | 1 353 | +1.8 |[lLF =K 53 | BH

W | EfEBk| wWeo | 1 364 | +03 |/ER AEF | 61 | K8

W | ZExBk| w4s | 1 10.11 | +1.6 |5k #2BF | 46 | [l IR -

W | =EBk| w50 | 1 8.02 | +0.2 |ILF =K 53 | B

W |zhEBK W60 | 1 9.42 BR OAEFT | 61 | E5

W | iEEBE W70 | 1 7.94 AE O FER | 71 | BB | 2UBRREXA -

W | Fahu& | Wh0 | 1 6.64 e BT 52 | BiR 3.0kg
W | fahE | W70 | 1 7.96 Wi =F 70 | EE | 2lEKei- 3.0kg
W | REA | WT0 | 2 5.97 AHE FER | 71 | BB 3.0kg
W | RgA | W70 | 3 5.93 XB BT 73 | B 3.0kg
W | RaAE | W75 | 1 4.97 ME BT 79 | B 2.0kg
W | w40 | 1 18.86 A B 40 | BE 1.000kg
W | P8 | w0 | 1 17.21 R BT 52 | BiR 1.000kg
W | 8% | wes | 1 19.25 AR FF 65 | ML 2L REH - 1.000kg




W | P | W70 | 2 11.23 AHE FER | 71 | RS 1.000kg
W | BE% | w70 | 1 14.10 AH BT 73 | B 1.000kg
W Mm% | W75 | 1 9.90 Nt BT 79 | BE 0.75kg
W | ~ve—s| W65 | 1 21.04 AR FF 65 | L | 2L AREH- 3.000kg
W | ~ve—s| W70 | 1 24.16 Wi BF 70 | K LR RRH - 3.000kg
W | | wes | 1 19.96 AR HF 65 | MWL 2R RH - 500g
W || W70 | 1 22.35 e E=F 70 | EE | 2lBXeE- 500g
W | Y& W70 | 2 15.41 AH BT 73 | BE | 2lEkEH - 500g
W | Y% W75 | 1 8.67 Nt BT 79 | BE 400g
W | Y% wes | 1 8.25 R B 86 | BH 400g




